1 2 1 2Y(0 0\(0 O
?13 4lespans|2 2|,|1 2|,/0 O]} oxn:720n
5 6 4 3){0 0)l0 1
4 [R¥al>}

0'01 7yn DNILVPIN 7 NIVYITIXIPZN 7V NIRYN DX PITAY 2'90N ,Q1I¥AN T2 2 720N '9Y
NI¥0NY? '0ITIVON 0'01N NX |2INd N1 .INWD

1 0)(0 1)(0 0Y(O 0)(O 0)(O0O O
S={E;}=1|0 0},/0 O|[1 O[O0 1[0 0[|0 0
0 0){0 0){O0 0){O0 O)(1 0)(0 1
a
b
a b .
c d = P71
d
e f
S le
f
1 1)(0) (0
2 2110110
3 2111110
€ span , , DX N7RYYT N71I7W nTRWN D'9Y
4 211210
5 4110110
6 3)(0)(1
1 0 01
2 0 02
2 1 03
N2YNY7 |INND 07 DRN NIRY? D7IPY NIRY INTY 1T
2 2 04
4 0 0:5
3 016
1 0 0:1 1 0 01
2 0 02 2 0 0{2
2 1 0:3 2 1 0!3
1'R M0PIN P71 [NNO 'R 27,010 NI 17y - M
2 2 0i4 2 2 0i4
4 0 0i5 0 0 01
3 016 3 016
NIXMVNN NYITY T 7Y NYI9] NI'R NXN0NN 271 DNINKRD DNIVRIN NYITY T 7Y Wi

JNNKRN



